076
" v 1.93
REF. -49 OPT. SCREW @ @ @ F
(WHERE APPLICABLE) B’ / %
375 L
- = . 9.53
I | :
PTH PATTERN
E
REF. -50 OPT. SCREW
(WHERE APPLICABLE)
PART NUMBER LEGEND
31
— — = TYP
& 75 /-7 -XX-XX-X
D
[ @ TN SER\ESJ
i TERMINAL STYLE
‘ 38 142 -
95 ¢
| 4 CIRCUIT QTY (2 TO 26)
‘ * ‘ ﬂ(STD) OPTION (-49 BRASS,PHIL/SLOT SCREW) c
@ A ‘ 11.9 (-50 CLAMP WASHERPHIL/SLOT SCREW)
V (-C NO MOUNTING ENDS)
NOTES.
.03
@ e % TERMINAL LENGTH I
1. MATERIAL: SEE TABLE 16 -55=54
2. FINISHES: SEE TABLE - '73; .- 7575
3. PRODUCT SPECIFICATION: PS-38710-001 ' -81=.81 )
4. 'XX' REFERS TO NUMBER OF CIRCUITS.
5. ASSEMBLY |S R HS COMPL'ANT E%E QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
© B3S| |sympoLs| (UNLESS SPECIFIED) INCH ONLY 2:1 INCH ©d PROJECTION
© g g g — mm ‘NCH DRAWN BY DATE TITLE » |
SSRSZ|\/=0 [4PLAGES|E—- |2-—  BVMURTHY  2015/06/30 953MM [.375"] SR BTS
5 |XX |®6-32 PH/SLOTTED SCREW W/WSHR (OPTION -50) |STEEL ZINC 8 = SPACESE—— 005 [oExe o e WIRE WRAP NO MTG
4 XX |#6-32 PH/SLOTTED SCREW (OPTION -49) BRASS NICKEL a2x =&\§/~0 [ZPLAGES[E043 [+.01 RSTONE 2015/06/30
e = TPLACE 1203 +-— APPROVED BY DATE
3 |XX |®6-32 PH/SLOTTED SCREW (STANDARD) STEEL ZINC Qi =22 :O CPATE T 11— JEMURPHY 2016/07/ 11 A
) XX | TERMINAL, WW SN-KT BRASS TIN H % 2 g ; ANGULAR + 2 © MATERIAL NO. DOCUMENT NO. SHEET NO.
1|1 [INSULATOR POLYESTER (PBT)|BLACK LDoExo DRAFT WHERE APPLICABLE| SEE SHEET 2 SD-38710-0306 1 OF 2
rooo= UST REMAIN SIZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
ITEM | QTY | DESCRIPTION MATERIAL FINISH A @ WITHIN DIMENSIONS B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSIONT
Rev. @ 3012/00 1 9 8 7 | 6 5 4 | 3 | 2 | 1 N



10

6 5 4 3 2 1
u OF DIM. "A” DIM. "B’
CIRCUITS
“XX* in mm in mm
07 53 71 375 953
03 121 31 750 | 19.05
Gl 158 20 25 | 2856
05 19 50 1500 | 360
0 233 59 875 | 4763
a7 271 69 2250 | 575
08 3.08 78 2625 | 6668
GE 346 88 3000 | 76.20
10 353 57 3375 | 8573
7 421 07 3750 | 95.25
7 458 116 L725 | 0478
13 496 126 2500 | 11430
1 533 135 4875 | 17383
5 571 145 5750 | 133.35
76 6.08 54 5625 | 14238
7 6.46 164 6.000 | 15240
B 6.83 173 6375 | 16193
E 721 183 6750 | 17145
20 758 193 7725 | 18096
21 7.96 202 7500 | 19050
22 8.33 202 7875 | 20003
23 8.71 221 8250 | 20955
24 9.08 23 6625 | 219.08
25 9.46 240 9000 | 228.60
76 983 250 9.375 | 238.3
E % E GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS
8=s SYU@B%US (UNLESS SPECIFIED) INCH ONLY 2:1 INCH ©d gg\[g%JDECATN‘OGNLE
- g g g E— mm INCH DRAWN BY DATE TIT )
SESSZING/=0 [ZPLACES[E—- |£-— [SYMURTHY  2015/06/30 9.53MM [.375"] SR BTS
< £ 3 PLACES|f —- |£.005 _ |CHECKED BY DATE WIRE WRAP NO MTG
nixE, 52| \/~0 [2PLACES[£045 [£.01  RSTONE 2015/06/30
[TH] S % % % % j PLA[E + 03 + - APPROVED BY DATE
Qe =0 F [\§/-0 [0PIAGE[E—- [E-—- FMRPHY _ 2016/07/11
wo 254 ANGULAR + 2 ° MATERIAL NO. BGOCUMENT NO. SEETO
OO =% DRAFT WHERE APPLICABLEL_ 387100306 SD-38710-0306 2 OF 2
oo MUST REMAIN SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A o WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. @ 3012/00 1 7 \ 6 5 4 \ 3 \ 2

\ 1



076
" v 1.93
REF. -49 OPT. SCREW @ @ @ F
(WHERE APPLICABLE) B’ / %
375 L
- = . 9.53
I | :
PTH PATTERN
E
REF. -50 OPT. SCREW
(WHERE APPLICABLE)
PART NUMBER LEGEND
31
— — = TYP
& 75 /-7 -XX-XX-X
D
[ @ TN SER\ESJ
i TERMINAL STYLE
‘ 38 142 -
95 ¢
| 4 CIRCUIT QTY (2 TO 26)
‘ * ‘ ﬂ(STD) OPTION (-49 BRASS,PHIL/SLOT SCREW) c
@ A ‘ 11.9 (-50 CLAMP WASHERPHIL/SLOT SCREW)
V (-C NO MOUNTING ENDS)
NOTES.
.03
@ e % TERMINAL LENGTH I
1. MATERIAL: SEE TABLE 16 -55=54
2. FINISHES: SEE TABLE - '73; .- 7575
3. PRODUCT SPECIFICATION: PS-38710-001 ' -81=.81 )
4. 'XX' REFERS TO NUMBER OF CIRCUITS.
5. ASSEMBLY |S R HS COMPL'ANT E%E QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
© B3S| |sympoLs| (UNLESS SPECIFIED) INCH ONLY 2:1 INCH ©d PROJECTION
© g g g — mm ‘NCH DRAWN BY DATE TITLE » |
SSRSZ|\/=0 [4PLAGES|E—- |2-—  BVMURTHY  2015/06/30 953MM [.375"] SR BTS
5 |XX |®6-32 PH/SLOTTED SCREW W/WSHR (OPTION -50) |STEEL ZINC 8 = SPACESE—— 005 [oExe o e WIRE WRAP NO MTG
4 XX |#6-32 PH/SLOTTED SCREW (OPTION -49) BRASS NICKEL a2x =&\§/~0 [ZPLAGES[E043 [+.01 RSTONE 2015/06/30
e = TPLACE 1203 +-— APPROVED BY DATE
3 |XX |®6-32 PH/SLOTTED SCREW (STANDARD) STEEL ZINC Qi =22 :O CPATE T 11— JEMURPHY 2016/07/ 11 A
) XX | TERMINAL, WW SN-KT BRASS TIN H % 2 g ; ANGULAR + 2 © MATERIAL NO. DOCUMENT NO. SHEET NO.
1|1 [INSULATOR POLYESTER (PBT)|BLACK LDoExo DRAFT WHERE APPLICABLE| SEE SHEET 2 SD-38710-0306 1 OF 2
rooo= UST REMAIN SIZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
ITEM | QTY | DESCRIPTION MATERIAL FINISH A @ WITHIN DIMENSIONS B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSIONT
Rev. @ 3012/00 1 9 8 7 | 6 5 4 | 3 | 2 | 1 N



10

6 5 4 3 2 1
u OF DIM. "A” DIM. "B’
CIRCUITS
“XX* in mm in mm
07 53 71 375 953
03 121 31 750 | 19.05
Gl 158 20 25 | 2856
05 19 50 1500 | 360
0 233 59 875 | 4763
a7 271 69 2250 | 575
08 3.08 78 2625 | 6668
GE 346 88 3000 | 76.20
10 353 57 3375 | 8573
7 421 07 3750 | 95.25
7 458 116 L725 | 0478
13 496 126 2500 | 11430
1 533 135 4875 | 17383
5 571 145 5750 | 133.35
76 6.08 54 5625 | 14238
7 6.46 164 6.000 | 15240
B 6.83 173 6375 | 16193
E 721 183 6750 | 17145
20 758 193 7725 | 18096
21 7.96 202 7500 | 19050
22 8.33 202 7875 | 20003
23 8.71 221 8250 | 20955
24 9.08 23 6625 | 219.08
25 9.46 240 9000 | 228.60
76 983 250 9.375 | 238.3
E % E GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS
8=s SYU@B%US (UNLESS SPECIFIED) INCH ONLY 2:1 INCH ©d gg\[g%JDECATN‘OGNLE
- g g g E— mm INCH DRAWN BY DATE TIT )
SESSZING/=0 [ZPLACES[E—- |£-— [SYMURTHY  2015/06/30 9.53MM [.375"] SR BTS
< £ 3 PLACES|f —- |£.005 _ |CHECKED BY DATE WIRE WRAP NO MTG
nixE, 52| \/~0 [2PLACES[£045 [£.01  RSTONE 2015/06/30
[TH] S % % % % j PLA[E + 03 + - APPROVED BY DATE
Qe =0 F [\§/-0 [0PIAGE[E—- [E-—- FMRPHY _ 2016/07/11
wo 254 ANGULAR + 2 ° MATERIAL NO. BGOCUMENT NO. SEETO
OO =% DRAFT WHERE APPLICABLEL_ 387100306 SD-38710-0306 2 OF 2
oo MUST REMAIN SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A o WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. @ 3012/00 1 7 \ 6 5 4 \ 3 \ 2

\ 1



